UNIVERSITY COLLEGE DUBLIN
School of Mathematical Sciences
Mathematical Enrichment Class, 9 February 2013
Professor Gary McGuire

See website www.ucd.ie/mathsciences and click on Events and Outreach
or go to www.irmo.ie and follow link to UCD.

1. Suppose a hacker can check 1000 passwords in one second.
How many possible passwords are there with three characters? How

long will it take a hacker to check them all?
How about with eight characters? xuddP&B(

2. How many paths are there from the top circle to any lower circle?
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3. What are the chances of winning the lotto?
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